

SOME APPLICATIONS OF GASPER'S BIBASIC SUMMATION FORMULA

YUSEN ZHANG AND TIANMING WANG

ABSTRACT. A new bibasic summation formula for hypergeometric series is found by a special inversion formula and it is applied to derive a class of transformation formulas and summation formulas for basic hypergeometric series only by elementary methods. The ordinary hypergeometric limits of these formulas are also obtained.

1. Introduction. All the notation and terminology is adopted from [9]. The (generalized) hypergeometric series is defined by

$${}_{r+1}F_r \left[\begin{matrix} a_1, \dots, a_r \\ b_1, \dots, b_s \end{matrix} ; z \right] = \sum_{n=0}^{\infty} \frac{(a_1)_n \cdots (a_r)_n}{n!(b_1)_n \cdots (b_s)_n} z^n,$$

where the rising factorial $(a)_n$ is given by

$$(a)_n := a(a+1)(a+2) \cdots (a+n-1), \quad n \geq 1, \quad (a)_0 := 1.$$

The gamma function can be used to extend to rising factorials by defining $(a)_\beta = \lim_{\gamma \rightarrow a} \Gamma(\gamma + \beta)/\Gamma(\gamma)$, β arbitrary. A hypergeometric series ${}_{r+1}F_r$ is called very well-poised if $a_i + b_i = 1 + a_0$ for $i = 1, 2, \dots, r$, and among the parameters a_i occurs $1 + a_0/2$. We use the standard abbreviation for very well-poised hypergeometric series, ${}_{r+1}V_r(a_0; a_2, a_3, \dots, a_r; z)$

$$:= {}_{r+1}F_r \left[\begin{matrix} a_0, 1 + a_0/2, a_2, a_3, \dots, a_r \\ a_0/2, 1 + a_0 - a_2, 1 + a_0 - a_3, \dots, 1 + a_0 - a_r \end{matrix} ; z \right]$$

2000 AMS *Mathematics subject classification.* Primary 33D15, Secondary 15A09.

Keywords and phrases. Inverse relations, basic hypergeometric series, bibasic summation formulas, transformation formulas.

This work was supported by the cross-subject program of Shandong University under Grant 11010053182023.

Received by the editors on September 8, 2004, and in revised form on December 14, 2005.

DOI:10.1216/RMJ-2008-38-2-703 Copyright ©2008 Rocky Mountain Mathematics Consortium

We shall also use the compact Gasper-Rahman notation

$$(a_1, a_2, \dots, a_r)_n = (a_1)_n (a_2)_n \cdots (a_r)_n,$$

Given a (fixed) complex number q with $|q| < 1$, the basic hypergeometric series is defined by

$$\begin{aligned} {}_r\phi_s \left[\begin{matrix} a_1, \dots, a_r \\ b_1, \dots, b_s \end{matrix} ; q, z \right] \\ = \sum_{n=0}^{\infty} \frac{(a_1; q)_n \cdots (a_r; q)_n}{(q; q)_n (b_1; q)_n \cdots (b_s; q)_n} ((-1)^n q^{\binom{n}{2}})^{s-r+1} z^n, \end{aligned}$$

where, as before, the rising q -factorial $(a; q)_n$ is given by

$$(a; q)_n := (1 - a)(1 - aq) \cdots (1 - aq^{n-1}), \quad n \geq 1, \quad (a; q)_0 := 1.$$

The infinite q -factorial $(a; q)_\infty := \prod_{n=0}^{\infty} (1 - aq^{n-1})$ can be used to extend (finite) q -factorials by defining $(a; q)_\beta := (a; q)_\infty / (aq^\beta; q)_\infty$, β arbitrary. A basic hypergeometric series ${}_{r+1}\phi_r$ is called very well poised if $a_i b_i = qa_0$ for $i = 1, 2, \dots, r$, and among the parameters a_i occur both $q\sqrt{a_0}$ and $-q\sqrt{a_0}$. We use the standard abbreviation for very well-poised basic hypergeometric series,

$$\begin{aligned} {}_{r+1}W_r(a_0; a_3, a_4, \dots, a_r; q, z) \\ := {}_{r+1}\phi_r \left[\begin{matrix} a_0, q\sqrt{a_0}, -q\sqrt{a_0}, a_3, a_4, \dots, a_r \\ \sqrt{a_0}, -\sqrt{a_0}, qa_0/a_3, qa_0/a_4, \dots, qa_0/a_r \end{matrix} ; q, z \right] \end{aligned}$$

We use short notations in the basic hypergeometric context which are analogous to the hypergeometric ones.

All identities in our paper are subject to suitable conditions on the parameters such that the involved hypergeometric or basic hypergeometric series converge. We shall not state these conditions for each identity. The reader should consult [9]. And we use some elementary identities in [9] to prove the identities in our paper.

Our new bibasic summation formulas are stated in equations (3.4) and (3.5) below.

2. Inverse series relation. In this section, we provide some background information for this paper. Gasper [7] showed that some bibasic summation formulas derived by Carlitz [3], Al-Salam and Verma [1], and William Gosper could be extended to the indefinite bibasic summation formula

$$(2.1) \quad \sum_{k=0}^n \frac{(1 - ap^k q^k)(1 - bp^k q^{-k})}{(1 - a)(1 - b)} \frac{(a, b; p)_k (c, a/bc; q)_k}{(q, aq/b; q)_k (ap/c, bcp; p)_k} q^k \\ = \frac{(ap, bp; p)_n (cq, aq/bc; q)_n}{(q, aq/b; q)_n (ap/c, bcp; p)_n}, \quad n = 0, 1, 2, \dots,$$

where p and q are independent bases and a, b, c , are arbitrary parameters. And he also derived some summation formulas containing at least two parameters.

When $c = q^{-n}, n = 0, 1, \dots$, formula (2.1) reduces to

$$(2.2) \quad \sum_{k=0}^n \frac{(1 - ap^k q^k)(1 - bp^k q^{-k})}{(1 - a)(1 - b)} \times \frac{(a, b; p)_k (q^{-n}, aq^n/b; q)_k}{(q, aq/b; q)_k (apq^n, bpq^{-n}; p)_k} q^k = \delta_{n,0}.$$

By replacing n, a, b and k by $n - m, ap^m q^m, bp^{-m} q^m$ and $j - m$ in (2.1), we find that

$$(2.3) \quad \sum_{j=m}^n a_{nj} b_{jm} = \delta_{n,m},$$

with

$$a_{nj} = \frac{(-1)^{n+j} (1 - aq^j p^j)(1 - bq^{-j} p^j)(apq^n, bpq^{-n}; p)_{n-1}}{(q; q)_{n-j} (apq^n, bpq^{-n}; p)_j (bq^{1-2n}/a; q)_{n-j}}, \\ b_{jm} = \frac{(ap^m q^m, bq^{-m} p^m; p)_{j-m}}{(q, aq^{1+2m}/b; q)_{j-m}} \left(-\frac{a}{b} q^{1+2m} \right)^{j-m} q^{2\binom{j-m}{2}},$$

where $n = 0, 1, \dots$ and $\delta_{n,m}$ is the Kronecker delta function.

By using (2.3), it is easy to prove that the system of equations

$$(2.4) \quad F(n) = \sum_{k=0}^n \frac{(-1)^{n+k} (1 - aq^k p^k)(1 - bq^{-k} p^k)(apq^n, bpq^{-n}; p)_{n-1}}{(q; q)_{n-k} (apq^n, bpq^{-n}; p)_k (bq^{1-2n}/a; q)_{n-k}} G(k) \\ n = 0, 1, 2, \dots,$$

is equivalent to the system of equations

$$(2.5) \quad G(n) = \sum_{k=0}^n \frac{(aq^k p^k, bq^{-k} p^k; p)_{n-k} (-a/b)^{n-k} q^{(n^2-k^2)}}{(q, aq^{1+2k}/b; q)_{n-k}} F(k)$$

$$n = 0, 1, 2, \dots$$

If

$$f(n) = \frac{(-1)^n (q; q)_n}{(aq^n/b)^n} G(n),$$

$$g(n) = \frac{(q; q)_n (aq^n/b; q)_n}{(aq^n/b)^n (apq^n, bpq^{-n}; p)_{n-1}} F(n),$$

then

$$f(n) = \sum_{k=0}^n (-1)^k \begin{bmatrix} n \\ k \end{bmatrix}_q \frac{(apq^k, bpq^{-k}; p)_{n-1} (1 - aq^{2k}/b)}{(aq^k/b; q)_{n+1}} g(k),$$

$$g(n) = \sum_{k=0}^n (-1)^k \begin{bmatrix} n \\ k \end{bmatrix}_q \frac{(1 - aq^k p^k)(1 - bq^{-k} p^k) q^{\binom{n-k}{2}} (aq^n/b; q)_k}{(apq^n, bpq^{-n}; p)_k} f(k),$$

where

$$\begin{bmatrix} n \\ k \end{bmatrix}_q := \frac{(q; q)_n}{(q; q)_k (q; q)_{n-k}}.$$

Now we get a pair of inverse series relations including two independent bases:

$$(2.6) \quad f(n) = \sum_{k=0}^n (-1)^k \begin{bmatrix} n \\ k \end{bmatrix}_q \frac{(1 - Aq^{2k}/B)(Apq^k, Bpq^{-k}; p)_{n-1}}{(Aq^k/B; q)_{n+1}} g(k),$$

$$(2.7) \quad g(n) = \sum_{k=0}^n (-1)^k \begin{bmatrix} n \\ k \end{bmatrix}_q \frac{(1 - Ap^k q^k)(1 - Bp^k q^{-k})(Aq^n/B; q)_k q^{\binom{n-k}{2}}}{(Apq^n, Bpq^{-n}; p)_k} f(k);$$

here it is assumed that $f(0) = 1$.

For the general inverse relations in one dimension, their applications to combinatorial identities and hypergeometric evaluations may be found in [2, 4–6, 10, 11, 16, 24].

The multivariable case involving $U(n+1)$ multiple basic (and bibasic) hypergeometric series first arose in [2, 14, 15, 17] and then continued, for other root systems, with the works in [12, 13, 18, 20–23].

In Section 3, 4 and 5, we shall give several applications of the special inverse relation (2.6), (2.7).

3. A bibasic summation formula. In [8], Gasper and Rahman showed that (2.1) could be extended to

$$\begin{aligned}
 (3.1) \quad & \sum_{k=-m}^n \frac{(1 - adp^k q^k)(1 - bp^k/dq^k)}{(1 - ad)(1 - b/d)} \frac{(a, b; p)_k (c, ad^2/bc; q)_k}{(dq, adq/b; q)_k (adp/c, bcp/d; p)_k} q^k \\
 & = \frac{(1 - a)(1 - b)(1 - c)(1 - ad^2/bc)}{d(1 - ad)(1 - b/d)(1 - c/d)(1 - ad/bc)} \\
 & \quad \cdot \left\{ \frac{(ap, bp; p)_n (cq, ad^2q/bc; q)_n}{(dq, adq/b; q)_n (adp/c, bcp/d; p)_n} q^n \right. \\
 & \quad \left. - \frac{(c/ad, d/bc; p)_{m+1} (1/d, b/ad; q)_{m+1}}{(1/c, bc/ad^2; q)_{m+1} (1/a, 1/b; p)_{m+1}} \right\},
 \end{aligned}$$

where $n, m = 0, \pm 1, \pm 2, \dots$, and then use this formula to derive some rather general summation and transformation formulas.

Note that when $m = 0, c = q^{-n}, n = 0, 1, 2, \dots$, formula (3.1) reduces to

$$\begin{aligned}
 (3.2) \quad & \sum_{k=0}^n \frac{(1 - adp^k q^k)(1 - bp^k/dq^k)}{(1 - ad)(1 - b/d)} \frac{(a, b; p)_k (q^{-n}, ad^2q^n/b; q)_k q^k}{(dq, adq/b; q)_k (adp q^n, bp/dq^n; p)_k} \\
 & = \frac{(1 - d)(1 - ad/b)(1 - adq^n)(1 - dq^n/b)}{(1 - ad)(1 - d/b)(1 - dq^n)(1 - adq^n/b)}, \quad n = 0, 1, 2, \dots
 \end{aligned}$$

Gasper and Rahman have already noted in [8, 9] that (3.1) is equivalent to its $m = 0$ special case in (3.2). Equation (3.2) is also a special case of equation (2.22) of [2], and Theorems 2.27 and 2.29, due to Macdonald, [2].

In order to use (2.6) and (2.7), we find that (3.2) can be written in the form

$$\begin{aligned}
 (3.3) \quad & \sum_{k=0}^n (-1)^k \begin{bmatrix} n \\ k \end{bmatrix}_q \frac{(1 - adp^k q^k)(1 - bp^k/dq^k)(ad^2 q^n/b; q)_k q^{\binom{n-k}{2}}}{(adp q^n, bp/dq^n; p)_k} \\
 & \times \frac{(q, q)_k(a, b; p)_k}{(dq, adq/b; q)_k} \\
 & = \frac{-b(1-d)(1-ad/b)(1-adq^n)(1-dq^n/b)q^{\binom{n}{2}}}{d(1-dq^n)(1-adq^n/b)} \\
 & \quad n = 0, 1, 2, \dots
 \end{aligned}$$

Let

$$\begin{aligned}
 g(n) &= \frac{-b(1-d)(1-ad/b)(1-adq^n)(1-dq^n/b)q^{\binom{n}{2}}}{d(1-dq^n)(1-adq^n/b)}, \\
 f(n) &= \frac{(q, q)_n(a, b; p)_n}{(dq, adq/b; q)_n};
 \end{aligned}$$

then we have

$$f(n) = \sum_{k=0}^n (-1)^k \begin{bmatrix} n \\ k \end{bmatrix}_q \frac{(1 - Aq^{2k}/B)(Apq^k, Bpq^{-k}; p)_{n-1}}{(Aq^k/B; q)_{n+1}} g(k),$$

where $A = ad, B = b/d$. By using (2.6) and (2.7) to get

$$\begin{aligned}
 \frac{(q; q)_n(a, b; p)_n}{(dq, adq/b; q)_n} &= \frac{\sum_{k=0}^n (-1)^k \begin{bmatrix} n \\ k \end{bmatrix}_q (ad^2/b; q)_k (adq^k, b/dq^k; p)_n q^{\binom{k+1}{2}}}{(ad^2/b; q)_{n+k+1}} \\
 & \times \frac{(1 - ad^2 q^{2k}/b)(1-d)(1-ad/b)}{(1-dq^k)(1-adq^k/b)}.
 \end{aligned}$$

That is,

$$\begin{aligned}
 & \frac{(a, b; p)_n}{(dq, adq/b; q)_n} \\
 (3.4) \quad & = \sum_{k=0}^n \frac{(-1)^k (1-d)(1-ad/b)(1-ad^2 q^{2k}/b)(ad^2/b; q)_k (adq^k, b/dq^k; p)_n q^{\binom{k+1}{2}}}{(1-dq^k)(1-adq^k/b)(q; q)_k (q; q)_{n-k} (ad^2/b; q)_{n+k+1}}, \\
 & \quad n = 0, 1, 2, \dots
 \end{aligned}$$

It should be noted that when $p = q$ formula (3.4) reduces to Jackson's sum (4.4). Hence, formula (3.4) is a bibasic extension of Jackson's sum (4.4).

4. A unified form of some summation formulas. Formula (3.4) can be rewritten as the form

$$(4.1) \quad \frac{(q, ad^2/b; q)_n(a, b; p)_n}{(dq, adq/b; q)_n} = \sum_{k=0}^n \frac{(1-d)(1-ad/b)(1-ad^2q^{2k}/b)(q^{-n}, ad^2/b; q)_k(adq^k, b/dq^k; p)_n q^{k(n+1)}}{(1-dq^k)(1-adq^k/b)(q; q)_k(ad^2q^n/b; q)_{k+1}}.$$

We can use this bibasic sum to derive a very well-poised series formula. Take $q = p^\lambda$ in (4.1), $\lambda = 1, 2, \dots$, then replace p by q to get

$$\frac{(q^\lambda, ad^2/b; q^\lambda)_n(a, b; q)_n}{(dq^\lambda, adq^\lambda/b; q^\lambda)_n} = \sum_{k=0}^n \frac{(1-d)(1-ad/b)(1-ad^2q^{2k\lambda}/b)(q^{-n\lambda}, ad^2/b; q^\lambda)_k(adq^{k\lambda}, b/dq^{k\lambda}; q)_n q^{k(n+1)\lambda}}{(1-dq^{k\lambda})(1-adq^{k\lambda}/b)(q^\lambda; q^\lambda)_k(ad^2q^{n\lambda}/b; q^\lambda)_{k+1}}.$$

So,

$$\frac{(q^\lambda, ad^2/b; q^\lambda)_n(a, b; q)_n}{(dq^\lambda, adq^\lambda/b; q^\lambda)_n(ad, b/d; q)_n} = \sum_{k=0}^n \frac{(1-d)(1-ad/b)(1-ad^2q^{2k\lambda}/b)(ad^2/b, q^{-n\lambda}; q^\lambda)_k(adq^n, dq/b; q)_{k\lambda} q^{k\lambda}}{(1-dq^{k\lambda})(1-adq^{k\lambda}/b)(q^\lambda; q^\lambda)_k(ad^2q^{n\lambda}/b; q^\lambda)_{k+1}(ad, d/bq^{n-1}; q)_{k\lambda}},$$

that is,

$$\frac{(q^\lambda, ad^2q^\lambda/b; q^\lambda)_n(a, b; q)_n}{(dq^\lambda, adq^\lambda/b; q^\lambda)_n(ad, b/d; q)_n} = \sum_{k=0}^n \frac{(d, ad/b; q^\lambda)_k(dq^\lambda\sqrt{a/b}, -dq^\lambda\sqrt{a/b}; q^\lambda)_k(ad^2/b, q^{-n\lambda}; q^\lambda)_k(adq^n, dq/b; q)_{k\lambda} q^{k\lambda}}{(dq^\lambda, adq^\lambda/b; q^\lambda)_{k\lambda}(d\sqrt{a/b}, -d\sqrt{a/b}; q^\lambda)_{k\lambda}(q^\lambda, ad^2q^{(n+1)\lambda}/b; q^\lambda)_{k\lambda}(ad, d/bq^{n-1}; q)_{k\lambda}}.$$

By using the multiplication formula

$$(a; q)_{k\lambda} = (a, aq, \dots, aq^{n-1}; q^\lambda)_{k\lambda},$$

the resulting summation can be written as

$$(4.2) \quad {}_{2\lambda+6}W_{2\lambda+5}(ad^2/b; d, ad/b, q^{-n\lambda}, dq/b, dq^2/b, \dots, dq^\lambda/b, adq^n, adq^{n+1}, \dots, adq^{n+\lambda-1}; q^\lambda, q^\lambda) = \frac{(q^\lambda, ad^2q^\lambda/b; q^\lambda)_n(a, b; q)_n}{(dq^\lambda, adq^\lambda/b; q^\lambda)_n(ad, b/d; q)_n}, \quad \lambda = 1, 2, \dots$$

Note that by replacing a, b, d , in (4.2) by q^a, q^b, q^d , and letting $q \rightarrow 1$, we obtain the limit cases

$$\begin{aligned}
 (4.3) \quad & {}_{2\lambda+6}V_{2\lambda+5}(a+2d-b; d, a+d-b, \\
 & \quad d-b+1, d-b+2, \dots, d-b+\lambda, -n\lambda; 1) \\
 &= \frac{(a)_n(b)_n \prod_{k=1}^n k\lambda(a+2d-b+k\lambda)}{(a+d)_n(b-d)_n \prod_{k=1}^n (d+k\lambda)(a+2d-b+k\lambda)}, \quad \lambda = 1, 2, \dots
 \end{aligned}$$

Now let us see some examples.

First, let us take $\lambda = 1$ in (4.2). The summation in this special case reads

$$\begin{aligned}
 (4.4) \quad & {}_8W_7(ad^2/b; d, ad/b, q^{-n}, dq/b, adq^n; q, q) \\
 &= \frac{(q, ad^2q/b; q)_n(a, b; q)_n}{(dq, adq/b; q)_n(ad, b/d; q)_n}.
 \end{aligned}$$

Now observe that by replacing a, b, c, d and e by $ad^2/b, dq/b, ad/b, d$ and adq^n in Jackson’s q -analogue of Dougall’s ${}_7F_6$ sum, see [9], we also can get (4.4). Next, we choose $\lambda = 2$; the summation (4.2) now reads

$$\begin{aligned}
 (4.5) \quad & {}_{10}W_9(ad^2/b; d, ad/b, q^{-2n}, dq/b, dq^2/b, adq^n, adq^{n+1}; q^2, q^2) \\
 &= \frac{(q^2, ad^2q^2/b; q^2)_n(a, b; q)_n}{(dq^2, adq^2/b; q^2)_n(ad, b/d; q)_n}.
 \end{aligned}$$

Finally, we take $\lambda = 3$; equation (4.2) then reads

$$\begin{aligned}
 (4.6) \quad & {}_{12}W_{11}(ad^2/b; d, ad/b, q^{-3n}, dq/b, dq^2/b, dq^3/b, \\
 & \quad adq^n, adq^{n+1}, adq^{n+2}; q^3, q^3) \\
 &= \frac{(q^3, ad^2q^3/b; q^3)_n(a, b; q)_n}{(dq^3, adq^3/b; q^3)_n(ad, b/d; q)_n}.
 \end{aligned}$$

5. Another limits case derived from (3.4). Letting $q = p^\lambda$ and then replacing p by q in (3.4), we obtain

$$\begin{aligned}
 & \frac{(a, b; q)_n}{(dq^\lambda, adq^\lambda/b; q^\lambda)_n} \\
 &= \sum_{k=0}^n \frac{(-1)^k(1-d)(1-ad/b)(1-ad^2q^{2k\lambda}/b)(ad^2/b; q^\lambda)_k(adq^{k\lambda}, b/dq^{k\lambda}; q)_n q^{\lambda \binom{k+1}{2}}}{(1-dq^{k\lambda})(1-adq^{k\lambda}/b)(q^\lambda; q^\lambda)_k(q^\lambda; q^\lambda)_{n-k}(ad^2/b; q^\lambda)_{n+k+1}}.
 \end{aligned}$$

Let $n \rightarrow \infty$; we get after some simplification the following formula

$$(5.1) \quad \sum_{k=0}^{\infty} \frac{(d, ad/b, ad^2/b; q^\lambda)_k (ad^2 q^\lambda/b; q^\lambda)_{2k} (dq/b; q)_{k\lambda} (-1)^{k(\lambda+1)} (b/d)^{k\lambda} q^{-\binom{\lambda}{2} k^2}}{(q^\lambda, dq^\lambda, adq^\lambda/b; q^\lambda)_k (ad^2/b; q^\lambda)_{2k} (ad; q)_{k\lambda}} = \frac{(q^\lambda, ad^2 q^\lambda/b; q^\lambda)_\infty (a, b; q)_\infty}{(dq^\lambda, adq^\lambda/b; q^\lambda)_\infty (ad, b/d; q)_\infty},$$

when $\lambda = 1$; (5.1) can also be obtained by replacing a, b, c and d by $ad^2/b, dq/b, ad/b$ and d in the sum of a very well-poised ${}_6\phi_5$ series, see [9]. Note that, by replacing a, b, d , in (5.1) by q^a, q^b, q^d and letting $q \rightarrow 1$, we obtain the limit cases

$$(5.2) \quad {}_{\lambda+5}V_{\lambda+4}(a + 2d - b; d, a + d - b, d - b + 1, d - b + 2, \dots, d - b + \lambda; 1) = \frac{\Gamma(a + d)\Gamma(b - d)}{\Gamma(a)\Gamma(b)} \frac{\Gamma(1 + d/\lambda)\Gamma(1 + (a + d - b)/\lambda)}{\Gamma(1 + (a + 2d - b)/\lambda)}.$$

Acknowledgments. The author thanks Professor CHU Wenchang for his hospitality and suggestions. We also gratefully acknowledge the valuable and careful comments made by the referees.

REFERENCES

1. W.A. Al-Salam and Verma, *On quadratic transformations of basic series*, SIAM J. Math. Anal. **15** (1984), 414–420.
2. G. Bhatnagar and S. Milne, *Generalized bibasic hypergeometric series and their $U(n)$ extensions*, Adv. Math. **131** (1997), 188–252.
3. L. Carlitz, *Some inverse relations*, Duke Math. J. **40** (1973), 45–50.
4. W. Chu, *Inversion techniques and combinatorial identities*, Boll. Un. Mat. Ital. **7** (1993), 737–760.
5. ———, *Inversion techniques and combinatorial identities: Strange evaluations of hypergeometric series*, Pure Math. Appl. [PuMA] **4** (1993), 409–428.
6. ———, *Basic hypergeometric identities: An introductory revisiting through the Carlitz inversions*, Forum Math. **7** (1995), 117–129.
7. G. Gasper, *Summation, transformation and expansion formulas for bibasic series*, Trans. Amer. Math. Soc. **312** (1989), 257–278.
8. G. Gasper and M. Rahman, *An indefinite bibasic summation formula and some quadratic, cubic and quartic summation and transformation formulae*, Canad. J. Math. **42** (1990), 1–27.
9. ———, *Basic hypergeometric series*, Second Edition, Encyclopedia Math. Appl. **96**, Cambridge University Press, Cambridge, 2004.

10. H.W. Gould and L.C. Hsu, *Some new inverse series relations*, Duke Math. J. **40** (1973), 885–891.
11. C. Krattenthaler, *A new matrix inverse*, Proc. Amer. Math. Soc. **124** (1996), 47–59.
12. C. Krattenthaler and M. Schlosser, *A new multidimensional matrix inverse with applications to multiple q -series*, Discrete Math. **204** (1999), 249–279.
13. G. Lilly and S. Milne, *The C_ℓ Bailey transform and Bailey lemma*, Constructive Approx. **9** (1993), 473–500.
14. S. Milne, *Balanced ${}_3\phi_2$ summation theorems for $U(n)$ basic hypergeometric series*, Adv. Math. **131** (1997), 93–187.
15. ———, *Transformations of $U(n+1)$ multiple basic hypergeometric series, in Physics and combinatorics: Proc. Nagoya 1999 International Workshop*, A.N. Kirillov, A. Tsuchiya, and H. Umemura, eds., World Scientific, Singapore, 2001.
16. S. Milne and G. Bhatnagar, *A characterization of inverse relations*, Discrete Math. **193** (1998), 235–245.
17. S. Milne and G. Lilly, *The A_ℓ and C_ℓ Bailey transform and lemma*, Amer. Math. Soc. Bull. **26** (1992), 258–263.
18. ———, *Consequences of the A_ℓ and C_ℓ Bailey transform and Bailey lemma*, Discrete Math. **139** (1995), 319–346.
19. M. Rahman, *Some quadratic and cubic summation formulas for basic hypergeometric series*, Canad. J. Math. **45** (1993), 394–411.
20. M. Schlosser, *Multidimensional matrix inversions and A_r and D_r basic hypergeometric series*, Ramanujan Journal **1** (1997), 243–274.
21. ———, *Multidimensional matrix inversions and multiple basic hypergeometric series associated to root systems. Special functions and differential equations*, Allied Publishers, New Delhi, 1998.
22. ———, *Some new applications of matrix inversions in A_r* , Ramanujan Journal **3** (1999), 405–461.
23. ———, *A new multidimensional matrix inversion in A_r . q -Series from a contemporary perspective*, American Mathematical Society, Providence, 2000.
24. M. Schlosser, *Inversion of bilateral basic hypergeometric series*, Electron. J. Combin. **10** (2003), Research Paper 10 (electronic).

SCHOOL OF INFORMATION AND ENGINEERING, SHANDONG UNIVERSITY AT WEIHAI,
WEIHAI 264209, P.R. CHINA

Email address: zhangys@sdu.edu.cn

DEPARTMENT OF APPLIED MATHEMATICS, DALIAN UNIVERSITY OF TECHNOLOGY,
DALIAN 116024, P.R. CHINA

Email address: wangtm@dlut.edu.cn